
3rd	Conjugation	(ĕ-stem)	
PRINCIPAL	PARTS:	

ACTIVE	tegō,	tegĕre,	tēxī,	tēctum	
PASSIVE	tegor,	tegī,	tēctus	sum	

PRESENT	STEM	tege-	
	 PRESENT	ACTIVE	 PRESENT	PASSIVE	

INDICATIVE	 SUBJUNCTIVE	 INDICATIVE	 SUBJUNCTIVE	
	
SING.	

1.	 tegō1	I	cover	 tegam1	 tegor1	 tegar1	
2.	 tegis		you	cover	 tegās	 tegeris	(-re)	 tegāris	(-re)	
3.	 tegit		he	covers	 tegat	 tegitur	 tegātur	

	
PLUR.	

1.	 tegimus		we	cover	 tegāmus	 tegimur	 tegāmur	
2.	 tegitis		you	all	cover	 tegātis	 tegiminī	 tegāminī	
3.	 tegunt		they	cover	 tegant	 teguntur	 tegantur	

	
1. See	§	179.c.1.	

	
	
	

PRESENT	IMPERATIVE	
	 ACTIVE	 PASSIVE	
SING.	 2.	 tege	 tegere	
PLUR.	 2.	 tegite	 tegiminī	

PRESENT	INFINITIVE	
ACTIVE	 PASSIVE	
tegere	 tegī	

PRESENT	PARTICIPLE	
tegēns,	-entis	
GERUNDIVE	

tegendus	(-undus)	
GERUND	 SUPINE	

tegendī,	-dō,	-dum,	-dō	 tēctum,	tēctū	


